o 4
® @/H
s -

::::::::::::::::: '.r—r"\.\
@ & ¢ )




1 4x : Mbx12

2 2x : M6x12




2x : M6x20




6 2x : M5x10







9 2x : M5x17

10







13

2X : M6x12 / 2x : M5x12




	1 4x : M6x12
	7 2x : M6x12 / 2x : M5x10 / 2x : Mutter M5
	9 2x : M5x17
	13 2x : M6x12 / 2x : M5x12

